
Y3 – Autumn – Block 2 – Step 5 – Add and subtract 3-digit and 2-digit numbers Answers

Question Answer

1 164

2

a) 463
b) 463 – 40
c) 423

3

a) 285
b) 463
c) 180

4

a) 176
b) 116
c) 146

5

a) 772
b) 712
c) 792
d) 722
e) 762
f) 702

6

a) 717 + 30 = 747                 717 + 60 = 777
717 + 40 = 757                 80 + 717 = 797
The ones digit is always 7

b) 182 – 30 = 152                 282 – 30 = 252
587 – 30 = 557                 380 – 30 = 350
The ones digit stays the same as in the 3-digit number.

7 5 has been subtracted from the ones digit instead of the tens digit.

8

a) 166
b) 281
c) 501
d) 775
e) 987
f) 295
g) 847
h) 70
i) 90
j) 227
k) 40
l) 0

9

multiple possible answers, e.g.:
726 + 10 – 10 = 726               726 + 20 – 10 = 736 
716 + 40 – 30 = 726               726 + 90 – 20 = 796 
756 + 40 – 70 = 726               726 + 70 – 90 = 706 


